%_@ @%@%’@ E é

\Aev(\e\ & ‘majc

DE’,P Lc‘:‘j (?" G

&% \"\\ \oc A \(‘(OVY\OW\OY ‘D\m‘ENYN.

(1\/\¥\a \(erne\ op ©® 5 '\‘ne 5@#

measures —t\wc

KG‘F LQ r= { ae G \ CP(‘J\) = CH } clejfec {6 which
a hcmomovf\!\'\ﬁm s

no'\' '\V\J e.c'\'ivc-

(D The  maae oF 9@ 5 fhe sel

lm @ = &(\’(0‘36\—\ laeér}
or ¢ (@)

G E heH the filber ofF | wnder @ 12 the set

¢ () = Laca | ¢@=h |




P\‘OKDOS'IJ"\Q\'\ 2L{ LC’,—k (9: G 7 \_\\ Ec o} \ﬁom<>mo~(‘3\r\\6m.
© Rer @ < G

@ lm @ < H

proo E:

(15 @ K“’—“_ e =/:' 9’5 \OQCO.USC Cﬂ@a\ = Cwu.

~1

© Le,k a)\o c KC‘( (‘?) '\'\'\en (‘)(O\\oﬂj = (-?(O\\\ Cf(by—1 = Cun- Cu = 6(—&. Thus Ob—1 € KCT ('e
(2\\ @ \m (—? +Cf) because C’E(@a) = Cu.

@ Le# "X,(j € \m(P 'H‘\en 3&,‘06 G 606,\(\ J‘\(\o_\_ 7C=(?(°‘\ aﬂcl j= (?(b>

)

Then ij-1 = 0@ 4T = 9lak™) | Thes ™ e Im 4



\DVO‘DOS'\_\'\on 25 Le—\‘ (P; G\ 7 H \oe a \(‘tomDmOY‘D\n'\s‘M.

(1) (Q 19 mlec_kive & Kev ® = &66(3.

)

(2\ \(‘ (Q (= '\ﬂJGC*.\UC’z ’W)e\(\ G = \m (?

(3) % = suvlec_k\\/c & \mC? = H

P“OOC‘

1 =) Le._\_ a € Kerg\)) ﬂWen (o) = cu = 9Ca). Since @ o mjec*}\/c) d= Ca.

(<=\ 60(3(3066 a)b e G are So '\\no—\_ CQ(O‘) = (P(bj) Then

I\

C{’(a\(?(b\)q = Cu => C\’(ab_1) = Cu =y (]E-l E Ker(() => CJ\O‘1 = Cg =7 d \C)

(2) Observe ‘\_\'\o«_\_ $: G

& \m(‘? is an iso.

(3) 61 A:SGF



EX’ E\ﬂc\ KCY‘(‘? , \m (‘PJ and e Cilbers
¢ 7 — Iin Ker @ = 0/ _
P ln @ = TIn ¢ (1) - | nkra | ke 7]

(emel - ©
O ! 2 n-1

NG '\ﬂjec—\'ive Ker @ + L0} 1 + o . 2N (n-DHEN
e 3R GWE

C_mejecji\lc |m (() = 7[/n l J l
[ed 011 (2] [n-1]

. R* S, P* ~ =

R R feeb=0-017  Imb=(22 | 2err =R ¢ (y)- UGS o

X l———?x—'?_

No+ '\njec_&ivc l/(er P + {1j

*

Not 6\)‘{\} cctive lm { & R

) L1<O




T R

> [R jwcf\ lo\uj TU(Y,\'j)= X‘l'j.
A (K= an epimo ’
fJ vr\'nsm) '\_\nen \mTC = [R
Meth =
{ (X,\.‘B ‘ %"'\1 =O] = { (%,"763\ X € \’RAg The \me ‘1=*7C

Tt (a) =
( Loy | xey=al = Uz cee) L re RY o e |
e ne (1:-"%"‘@

NOT '\ﬂ\jecjive Kcr TC =/= [(:(1,1‘)} 2.3 2.5
T (=2)
Surjec‘\_ive \m = \R \
\ \ 77 e
-2\ T (1)




L/ > 57 feo ¥ - f0] m 4 -57 4 (572) = {2}
X | > 5% \
\ert®
‘njec_kivc Kevr '4’ = [[O} “ R - -.1 0 1 2 3
50066&% =57 %V l l l l l l l
Lt Y Do > Oy Lbe defined L;J aﬂ(r) —d and (9 =3 where

oLi={1234) and ﬁ=(24), y
¢) 6"'%\m

S'p] G = 011/53

hee =041 m =L, 0, pet, pa?, g7 ] 9-1(5>={

‘n\']ec'\';\;@ Kcr 5? =[l13

NOJY sm)ec*i\/e \m?? 9: Sy



(]

(]

ST

sr2

SY

v

/3»13 (234) (243)

(1 2)



